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Reference ID:(12717)  Gferad a1 Yrsaran fawearif <reg i

Afaeqd
B.Tfamy

Answer: Aﬁﬁﬂ

Reference ID:(12744) IV dg &1 GRS T TIE 31?2

AT

Answer: C.HT{@LC{

Reference ID:(12710)  Tal Ui @il MTel HRUT URSHH ATl ST’ IT AiaEl UhR sl
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Answer: D Ty gt

Reference ID:(12712)  3{URRId YTl ST 3N,
dl 3ngr S,

A-TH

C.fa=or
D.fharug

Answer: B.‘vﬁTﬂT[

Reference 1D:(12483) Fill in the blanks with the correct option in the given sentence:

When we reached there, we discovered that the snakes
A.was disappeared

B.had disappeared

C.disappears

D.disappeared

Answer: B.had disappeared

Reference ID:(12738) 3T - 2019 A $e1g AHEe [ T3t Tt fRfS el wimegR
A fgmett

B.dR
cAcs



Answer:

Reference 1D:(12953)

Answer:

Reference ID:(12701)

B.ANR

el feeied IR Tgite! HIvIdT Ol [T fediedn TamRit S[gHaul Jad ATer?

3 Tampines Central 1, #02-03, Abacus Plaza,
Singapore 529540
Telephone (65) 6438-8822

(i) 3 Tampines Central 1, #02-03, Abacas Plaza,
Singapore 529540
Telephone (65) 6438-8822

(i) 3 Tampines Central 1, #02-03, Abacus Plaza,
Singapore 529540
Telephone (65) 6438-8822

(iii )3 Tampines Central 1, #02-03, Abacus Plaza,
Singapore 529540
Telephone (65) 6438-8822

(iv) 3 Tampines Central 1, #02-03, Abacus Plaza,
Singapore 529540
Telephone (65) 6438-8822

A.(i)
B.(ii)
C.(iii)

D.(iv)

A.(i)

Jeld diardia fawg s,
3 sss, ¢



Answer:

Reference 1D:(12494)

Answer:

Reference ID:(12730)

Answer:

Reference 1D:(12493)

A.3aUE I8

C.ganfasg
D.U=ARIg

A.3aUe g

Choose the correct word in the given sentence:
| found that this medicine is the most ____ for fever.

A.effected
B.effective
C.effects

D.effecting

B.effective

s Rig Wad gt @S T+t e WY 2019 7 vl TdTse
Wi = fHead.

A27%

B.28¢

C.267

D.25%

A279

Choose the correct word to fill in the blank in the given sentence:
Some of the shanty towns are dreadfully



A.crowdy
B.crowded
C.crowding

D.crowden

Answer: B.crowded

Reference 1D:(12480) Choose the correct option to fill in the blanks in the given sentence:

We drove the coastline California along
time.

A.along, of, for
B.in, for, of
C.by, of, at

D.at, in, by

Answer: A.along, of, for

Reference 1D:(12484) Fill in the blank with the correct option in the given sentence:
Are there fruits in the basket?

A.a
B.a few
C.any

D.many

Answer: C.any



Reference ID:(12746)  &dTHe I aredn Riqufifasd Wrefiate! Sivd T g AEt?

AFHBIS 0T goIRY
B.TTRITl ot

C. 2y 30T Aigeid H=dl
D.dGrdl SrIehdl

Answer: A HHBTS 0T g\_rﬂf[

Reference 1D:(12482) Fill in the blanks with the correct option in the given sentence:
Eva to drive when she in London.

A.learnt, was working
B.learns, was working
C.learnt, is working

D.learnt, worked

Answer: A.learnt, was working

Reference ID:(12970) U ¢ 12 ffeiaed 25 fohwil/dr Uar &xd 3111 Jeid 3R 8 e 30
fop /T a1 AT H1Yd. AT YIRIRITST YeddT TRIERT a1 3G

A.26 THH/a
B.27 fhd/am
C.24 fHdtam

D.22 fedia™

Answer: B.27 fhHaN



Reference ID:(12719)

Answer:

Reference ID:(12703)

Answer:

Reference 1D:(12500)

Answer:

TR T XsaTn fasgrelf 2rsg T
A ST

B.3RY

D.3oRdd

D.3oRdd

TR Seaumst I farctt smed?

AdH
B.73

C. el

D.dR

AdHE

|dentify the sentence with a spelling error.

A.He inadverantly opened the swing door too hard and hit the woman on
the other side.

B.Smanatha took a long swig of the beer jar and inhaled hard.
C.He seemed totally absent mentally and looked vacantly out of the window.
D.He cannot run hard enough as he is getting old and feeble.

A.He inadverantly opened the swing door too hard and hit the woman on
the other side.



Reference ID:(12749) 2011 T SVUHER, Weild IcATHENT F1&RdT ST SRl shi- HiST.
1. PRB

2. Golld

3. ditesrg
4. IR Y=
A1, 4,2 3013
B.1, 4, 3 3TfUT 2
C.4,1,3 3012
D.4, 1, 2 3101 3

Answer: B.1,4,3 37O 2

Reference ID:(12709) gcsnlm T UhR 3N,
ST hTart Adh 331,

A faemneff are
B.faemff arem

C.Hoharff are

D.3mzeff gy

Answer: Bﬁ‘a:r%ﬁa’m

Reference ID:(12958) o fafR1¥ Yhamel RGTHGEV 8 PERFECT 3 feffgd Siid. dk &
Jhdme DTQYP HY fofed TEa?

A.BROWN
B.ORBWN
C.NWBRO

D.WBRON



Answer: A.BROWN

Reference ID:(12732)  HRAY <TG SIHNT YTEebRUMH AP SN SYAH aTURT=AT WA
AT T4 gicd = Pl

A.LAD
B.MADIS
C.MAD

D.LADIS

Answer: D.LADIS

Reference ID:(12714)  ‘&a T Xsardl GAMTIT Ueg HIUT?

AN
B.3{Ieh HUI

cIs
D. IR

Answer: AYITUT

Reference 1D:(12478) Complete the sentence with the right option.

Her friends were surprised to learn that she had quit her job, ?
A.won’t they?
B.were they?
C.didn’t she?

D.weren’t they?



Answer:

Reference 1D:(12962)

Answer:

Reference 1D:(12963)

Answer:

Reference ID:(12731)

D.weren’t they?

o fagM A few1umge B fdw1ult 600 fodi/ari=an 3 ST . WRatan
TaraTHe, T o 800 fohHi/ar Srdl. Ui vara e fammmer SRRt o
3Tg:

A.682.71 fodiara

B.685.71 fhHl/dr™

C.680.70 fH/amg

D.684.71 fpdiamg

B.685.71 fhHl/a™g

X, Y, 3M1f01 Z T Hauur &= faaxh 3. 600 HHEGA, aR X 310 Z Thd . 376
3{TOT, Y 30T Z Uhal 3=, 304 HHIGIE. Z I SRIoH HHTS ... 378,

AX.50
B.X=.60
Cx=.70

D.x=.80

D.x=.80

THUY JSAY PIUK H& SIg AU ‘daieh ded! Fal TaT H& Ahdl?

AF4
B.F1
C.F2

D.F11



Answer:

Reference ID:(12721)

Answer:

Reference 1D:(12973)

Answer:

Reference 1D:(12492)

AF4

eadidizdl URIdR .......... ' MBS 4R

A feeauz
B.ddIUA
C.gaxiux
D.gaigH

C.Jaxiux

A, Siffrd 3nfor H1o] ai=an quigedie Tefad iR 3:6:7 3Te. SR AT Sfor
P el qaTAEd B 13 T 3, TR FRel AT Sifid afean aaidia
TR DY 3HTg?

A.36 S

B.39 9%

c.37dd

D.38 9%

B.39 a%

Choose the sentence that best combines the given sentences.
| met your brother, he had a broken knee.

A.l met your brother who had broken knee.
B.l met your brother with a broken knee.
C.Your brother with a broken knee met me.

D.I had a broken knee and met your brother



Answer: A.l met your brother who had broken knee.

Reference ID:(12952)  Tail faaiel AiferenT 3i&R 31O Texi=ar shAT=l dTUR Hd. bid Jaro
3T,

(i) an75ermu74
(i) an75ernu74
(iii) an75ermu74
(iv) an75ermu74

Al
B.ii
C.iii

D.iv

Answer: B.ii

Reference 1D:(12498) Choose the option that best begins the given sentence:
on how rare the autograph is.

A.The prize of an autograph depends
B.The price of an autograph depend
C.The price of an autograph depends

D.The price of a autograph depends

Answer: C.The price of an autograph depends

Reference ID:(12745)  “BSAR” I YT G P10 Gldl?
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B.g1 T



C.®Ifcrer™d
D.g¥

Answer: AJIUT

Reference ID:(12969)  Udhl TBd 20% TGS 120 HY Ioll del ATl ASATT Idl. <l ST =M.

A.90
B.100
C.80

D.75

Answer: B.100

Reference ID:(12957) 5 FRT&UN TRIERT 44 3118, SR Y= fARI&omed Te 94149 FRiemr aifay
$, R T IR 48 ha. 74 e 3T

A.67
B.66
C.68

D.65

Answer: C.68
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B. 7T HgHg




Answer:

Reference 1D:(12702)

Answer:

Reference I1D:(12477)

Answer:

Reference ID:(12975)

C.3/gHg X8 3fearall
D.HTh! gt

A Iea™

qaid reRTdid faRmferg e,
AU Had dell; TOT HINOT  HRdTd IR 3Tl
A TR

B.3feffaRmH

C.3ERf®

D.3{UIRUIMTE

B.31effa=mH

Complete the sentence with the right option.

The students promised to repay the money within three months,
?

A.did they not

B.do they

C.didn’t they

D.do they not

C.didn’t they

Tqredr:
518.002 — 44.99 + 8.998 — 8.012

A.650



B.350
C.418

D.550

Answer: C.418

Reference ID:(12971) A, B 3fTf01 C I+ ¥.3600 fdhHciid T &1 qui ovdl. A A 8 fdaw, B A 6 fdaw

30T C A 9 faad 1 &l Bid. SR AT GRRoreAT HoRid U 3 6: 7:
5 3{Tg TR, fdbeil JahH A dT fHa?

A=, 1280
B.X>. 1270
C.X=. 1260

D.%=. 1250

Answer: AX. 1280

Reference ID:(12955) Tt f[adied Y@ciAe il U fafRiy ovH feddr 38, AR Iebial hH
3{IesaT:
2,16, 4, 18, 8, 21, 16, 22, 32, 24
A.22
B.16

C.21

D.24

Answer: C.21

Reference ID:(12740)  Tied i 3fear Qe THeD T 3R,




AZSI-3HIHS
B.ZSI-l®

C 3S1-gcrferaT
D 3SI-9RAS

Answer: D 3SI-ORAM®

Reference ID:(12706) 3% Nsaiaed Udh Xeq (Haal.
9 resd AU

A.3TaRgH
B.3fduitg
C.3ffameit

D. 3ffaeRuitg

Answer: A SORER™

Reference ID:(12964) SR U aXd! W@Ya! [hHd gl fash! fopHdeA1 80% 3d, @R fawh! fhad &t
RCRGARE2AG 3] TFD 3G

A125%
B.225%
C.140%

D.240%

Answer: A.125%

Reference ID:(12718)  ‘ftfes’ a1 Rrecra favgreff vreg wivrar?



Answer:

Reference 1D:(12729)

Answer:

Reference 1D:(12965)

Answer:

Reference 1D:(12489)

A HSHT
B IO
C.Sidr

D.gR

AHI DT

RIS USRI STeied UfgedT Hlcaiia AT1d I,

A 3D
B.Udhd WIcll

C.paqd
D. A Ry

D. A Ry

200 T 25% dT 20% T 10% bl 38?2

A1
B.2
C7

D.5

A1

Choose the option that is well improved in structure over the others:
A.Did everybody managed to escape from the fire?

B.Did everybody escape from the fire?



Answer:

Reference 1D:(12960)

Answer:

Reference 1D:(12488)

Answer:

Reference 1D:(12496)

C.Did all escaped from the fire?

D.Did everybody try escaping from the fire?

B.Did everybody escape from the fire?

Jerdd adH 99 § T Jare fawe o8, 8 IuiHar, a8idd 99 § e
HolTedT JuTHl gWe 3. Ja aaAF ad__ 38,

A.9 Ty

B.6 IY

c.8dy

D.7 %

c.8ay

Choose the correct option in the given sentence:
Life _ afford you several opportunities if you look hard enough.

A.must
B.might
C.should

D.ought

B.might

Fill in the blank with the correct option that is opposite in meaning to the
word highlighted in the given sentence:

Trivial incidents do not remain in our memory, whereas events are
never forgotten.

A.minor



Answer:

Reference 1D:(12481)

Answer:

Reference 1D:(12725)

Answer:

B.historical
C.important

D.flimsy

C.important

Complete the proverb correctly.

Little strokes fell great

A.giants
B.trees
C.oaks

D.ogres

C.oaks

gald Xeardn A 3 il
3igel

A THS
B.gHA
cgw
BRIGIC]

A DHD



Reference ID:(12974)  Tlear:

0.15151515...

A.15/97
B.15/98
C.5/33

D.15/78

Answer: C.5/33

Reference ID:(12954)  aiTasaial SveAT fiagH HTferant ol o
5,16, , 104, 181.

A48
B.46
C.49

D.45

Answer: C.49

Reference ID:(12959) Ul CIUCIHL 10 I, 4 BHTos AT 2 Uiex og 3Mad. SR STy
el HUUl 2 A€ Bled. AR d Gl Al ST YU BRI 3MTg?

A.3/8
B.8/3
C.5/8

D.8/5

Answer: A.3/8



Reference 1D:(12479)

Answer:

Reference ID:(12728)

Answer:

Reference ID:(12726)

Choose the correct option to fill in the blanks in the given sentence:

The cat jumped the open window, landed ____ the grass outside and
ran ___ atree.

A.from, on, up
B.into, for, by
C.across, into, up

D.through, on, up

D.through, on, up

2018 AL WIeieep! HIuT Tor et e Ie (TEeigdT) o 55
TS U gl Hruard Sireil?

AT fafara
BT <8

C.HRET DR
D.dq

B.XdH1 d&d

THUY 98 2010 A, 3SR fgd URH Bd ®hi- STl Rad HRUgNe!

A v

HIUTAT T dTUR bl STdl?

Af®ads
B.Rfgaca
C.USl W3M3¢ od

D3¢ °§



Answer:

Reference 1D:(12972)

Answer:

Reference 1D:(12486)

Answer:

Reference 1D:(12741)

Afga<e

Ueh] TIUAIHE 4 TR, 5 HToaT 0T 3 AT Tl 3iTgd. SR CIuaidYyA
YIefx5H YUl 2 Med] Hlecdl. aR Il alo! BT YU YHTH ST 3HTe?

A1/13
B.1/11
C. 1M1

D.13/1

B.1/11

Choose the correct option in the given sentence:
The teacher said, "five ___ five make ten."

A.but
B.yet
C.and

D.or

C.and

3T foreaImeie JaTR fohreware SiedT o 313 AMegR Y& bl Id
gId, St JYTCTT el il

A IRToE
B.SIg IR

C.dlslR

D. gAY



Answer: A.Gﬁ?'TI@Fq'

Reference ID:(12956)  TRY 3&R/31&R T Mag e guf o
A A B D, ,KPV.

AQ
B.R
C.T

D.G

Answer: D.G

Reference 1D:(12495) Fill in the blank with the correct option in the given sentence:
The colour of food sends important to our perceptions

A.sign
B.signals
C.signage

D.signatures

Answer: B.signals

Reference ID:(12747) T U S0l AU 38?2

AT (U g SaT)
B.94 ()

C. 91 (H1&dh SoHTdl ¢d)

D.AREd (ATGes 1T ¢d)



Answer:

Reference 1D:(12491)

Answer:

Reference 1D:(12485)

Answer:

Reference ID:(12708)

AT (U g Sadn)

Identify the sentence which is a simple sentence.

A.The horse reared, throwing its rider.

B.Your arguments are weighty; still they do not convince me.
C.I called him, but he gave me no answer.

D.He must have done his duty, for he is a conscientious man.

A.The horse reared, throwing its rider.

Fill in the blank with the correct option in the given sentence:
school would suit me.

A.Every
B.Either
C.Each

D.Most

B.Either

TSTd A JHUNRT o 3esl.

AZHART
B.3Sfdg
C3dhedl

D.g¢H



Answer: C.m_tﬂ

Reference 1D:(12487) Choose the correct option in the given sentence:
You had better start for the station now you would miss your bus.

A.since
B.otherwise
C.though

D.but

Answer: B.otherwise

Reference ID:(12739) I ST M YR YHGATAT b IT3T 10,000 TR ST 0T
Bl 3Tg?

A HBRTY
B.3WR U
C.HAY Uy

BRINESIE]

Answer: A.II'E:WQ

Reference I1D:(12707) WWWW (FasT.
ST 61 dd UTe ORI

A TATAA
B.QRITH

C.YGTS
D.$HS



Answer: A.?Fﬂ?Fﬂ

Reference ID:(12735)  IRARY M1 I AfARad, AT IO HTST ST, 30T SH1fRAR=aT JRe
HINTUD! U 31?2

AfRS
B3R
c.Rieh

D.®ds

Answer: B.S-Illél

Reference ID:(12734) 2019 Y, A S UIATAM AU AU HIUAT Al YT HAGR
TUTHE TAGH X ST HaSUd ST (Hofame 99+ o

A dIR S HAGR 99
B.f@rh Tgdig AdaR I
C. AR T4 AdGR Y
D.HaTUe IS AR Y

Answer: A IR Y941 AdGR 99

Reference ID:(12750)  WTAiddeh! SIUTT ASUTHE iT$H S S AUS XM Ul fRUT 3M1g?

AfeIRH
B.3W Uy

C.3H

D.Bgx



Answer:

Reference 1D:(12476)

Answer:

Reference ID:(12723)

Answer:

Reference I1D:(12727)

Choose the correct option to fill in the blank for the given sentence:

Experienced people have more knowledge as

into their practice.
A.him
B.they
C.she

D.I

B.they

AT WeaTdtd SireTeRi T fadt 3mg?

A4
B.1
C3

D.2

C3

@leilede! HIvd HERIMY ufed faardis smg?

A AR fagmdis

B. PR faedis

C.4&% faemdis

D.2TeT ST 3% HLe =y

have put many years



Answer: C.HTSFSC ICEILIE)

Reference ID:(12737)  Toitg it W ¥ TRIBR UT HRUIRT AT Bidh! WG WIeitertas! ol
BId?
ATRCR g
B.Y=RIS fUe
C. 3= HHR

D.WRTd g

Answer: B.YRTS! fuet

Reference ID:(12966)  Hlsdr:
389 + (2.6 x 6.9)

A.22
B.17
C.28

D.12

Answer: A.22

Reference ID:(12715) ‘ot T YegTal THHT Weg WeiaUeh! PHIUT 31?2

AT
B.3Udd

C.d[

D.3dl



Answer:

Reference 1D:(12724)

Answer:

Reference 1D:(12968)

Answer:

Reference ID:(12713)

AT

TS Y&TaRISR Gl HedoR Bicdl Yafie! Fod tRUT gid 3’ SRR
fohaTacT= HTes 3fes.

AT Ydpies
B 3ifd Hidwd1es

c.3fq gdarPTS

D.gaHM®Te (FRRT)

ORUGKREIGEIC)

Mg AT ARG SATAT BTa! HIT W Bl AT BTt HRTT sad Bl
AT AT AT FadiRi e Haied ONR 25:4 3. SR I J1Rkid
IF 7105 FUY 3, R AT HIRYD il I9bH DY 3Ed?

A% 980

B.%. 975

C.%. 985

D.%. 970

A%. 980

HYof} T HIvf fder a1 aTRTdia ga-mHar e R 3fiesar ?

A g gamH

B.Hddl a8

C M= fobar sifAsftd Fa-m
D.GRic FaTH



Answer: C. M far ifRsfta gd=m

Reference ID:(12711) WU 10T YbRedT ATHN 3HdbdeH gld ?

AT ATH
B.favy a9

C.HIdddd —TH

D. YTqETd 19

Answer: ANFTH AH

Reference ID:(12951)  IRIERI HIal.
13, 65, 45, 90, 47 & 22

A.47
B.57
C.45

D.48

Answer: A47

Reference ID:(12722)  Gald URddd AGD P02
Y

ARTUTSId GHTg
B.fa. 9. @igaR
C.41. 5. 7.

D. 3 Trdlal.



Answer: A UG 3FII§

Reference ID:(12705) 41 gafarit fAds &,

Answer: ATl

Reference 1D:(12499) Fill in the blank with the correct word in the given sentence:
The Dean his staff to spend a larger chunk of their time with the
student community.

A.authorized
B.authorities
C.authority

D.authoritative

Answer: A.authorized

Reference 1D:(12497) Choose the word that is closest in meaning to the word highlighted in the
given sentence:

For thirty years, the Japanese have assiduously avoided making
substandard products.

A.industriously

B.hastily



Answer:

Reference 1D:(12736)

Answer:

Reference ID:(12733)

Answer:

Reference 1D:(12490)

C.idly

D.languorously

A.industriously

2019 AeY, HRAHSSM HIUAT AT 22 d AlIMS RITUT HRUART Hot
fgeit?

A TSR
B.giamn
c.fagr

D.IRTES

B.gfamon

ERNEIR] T -G U1 QA Il P TAHrd]
2018 AN TaT Ay VUl QRIHR fHesTaT.

At ST &1
B.4T 3Rfdc T
C. 4t 3[R SRt

D. 4t T AT WM

D. 4t T AT WM

Choose the correct word to fill in the blank in the given sentence:
is to an army as a staff is to a company.

A.Pack

B.Platoon



C.Lump

D.File

Answer: A.Pack

Reference ID:(12716) Tl dlal 3 Weg faaidl 3fed o Se M Jdrd, Fidid gebral Gard 3fiesr.

A.qdU-daa U]

B.XIH-3URPH
C. HTSI-UTeT

D. 3T}

Answer: D. YT UMl

Reference ID:(12961) 10, 16, 30 T Ay JHTIUIIH B 37T8.

A.48
B.44
C.46

D.42

Answer: A.48

Reference ID:(12704)  Ueld Xsard foifT 3ficawr.



Answer: A gfeiT

Reference ID:(12720) ‘@I |I.......... 30T HRS TTHTOT TMESerel! ST HRT.

Answer: A.dcdIqH

Reference ID:(12967) 384 fhHdoR 10% It U8 HR /RG] HRal 0T 10% SR fbddA foreh faspt
P!, ITrAT TR TFBHART 3G,

A.21.18%
B.22.22%
C.23.16%

D.20.21%

Answer: B.22.22%

Reference ID:(12743)  HRATHEN "HIGTT AP SN =T ST ATHIb PIUT BRAT?

A RPR

B



D. 5 qd T Fitrdrean fRIBRRITAR Ayuch

Answer: AHGE PR

Reference ID:(12748)  fiF-&ct (=ffd aTesde) Srfmsr Rere IToaTHe fRUT 3118,

A.3RBUEA JexT
B.feAEa uew

D.JWRIE e

Answer: B.fevmaa uewr



